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Abstract

(d+e x)"m (f+g x)"n (atb x+c x"2) p There are:

255 integrals in this file.

255 supplied ”optimal results”.

128 matching answers.

152 cases where Axiom answer differs from Rubi
52 cases where Axiom supplied 2 results.

0 cases that Axiom failed to integrate.

26 that contain expressions Axiom does not recognize.
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ok
)set break resume
)sys rm -f richderil2a.output
)spool richderl2a.output
)set message test on
)set message auto off
)clear all

--S 1 OF 765

t£0:=(A+B*x) *x (d+e*x) “m* (b*x+c*x~2)

--R

--R

--R 3 2 m

--R (1) Bcx + (Ac+Bb)x +Abx)(ex+d)

--R Type: Expression(Integer)
--E 1

--S 2 OF 765

r0:=-d* (Bxd-Axe) * (cxd-b*e) * (d+e*x) ~ (1+m) / (e~ 4* (1+m) ) + (B*d* (3*xc*d-2xb*e) - _
Axex (2xc*xd-b*e) ) * (d+e*x) ~(2+m) / (e~ 4% (2+m) ) - (3*B*cxd-b*Bkxe—-A*cxe) *_
(d+e*x) " (3+m) / (e~ 4% (3+m) ) +Bxc* (d+e*x) ~ (4+m) / (e~ 4* (4+m))

--R 3 2 m+ 4
--R (Bcm +6Bcm + 11Bcm+ 6B c)(e x + d)

--R 3 2
--R ((Ac+Bble-3Bcdm + ((7TA c + 7B bl)e - 21B ¢c d)m

--R ((14A c + 14B b)e - 42B c d)m + (8A c + 8B b)e - 24B c d

--R m+ 3
--R (e x + )

--R 2 2 3
--R (Abe + (-20c-2Bb)dde+ 3 cd)im

--R 2 2 2
--R (BAbe + (- 16A c - 16Bb)d e + 24B c d )m

--R 2 2 2
--R (194 be + (-38Lc-38Bb)de+57Bcd)m+ 124 b e

--R 2
--R (- 24A c - 24B b)d e + 36B c d

--R m+ 2



--R (e x + d)

--R 2 2 3 3
--R (-Abde + (Ac+Bb)de-Bcd)m

--R 2 2 3 2
--R (-9Abde + (A c+9Bb)de-9Bcd)m

--R 2 2 3 2
--R (-26Abde + (260 c+26Bb)de -26Bcd)m-24Abde

--R 2 3
--R (24A c + 24B b)d e - 24B c d

--R m+ 1
--R (e x + 4d)

--R 4 4 4 3 4 2 4 4

--R em + 10em + 35em + 50e m + 24e

--R Type: Expression(Integer)
--E 2

--S 3 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 3

)clear all
--S 4 OF 765

£0:=(A+B*x) * (d+e*xx) ~“5* (b*x+c*x"2)

--R (1)
--R 58 5 4 7
--R Bcex + ((Ac+Bble +5Bcde)x

--R 5 4 23 6
--R (Abe + (BAc+5Bb)de + 10Bcde)x

--R 4 23 32 5
--R (BAbde + (10A c + 10Bb)d e + 10Bc d e )x

--R 23 32 4 4
--R (10Abde + (10A c + 10B b)d e + 5B c d e)x

--R 32 4 5 3 4 5



(10A b de

--E 4

--S 5 OF 765

+ (BAc+5Bb)de+Bcd)x + (B5Abde+ (Ac+ Bb)d)x

Type: Polynomial (Integer)

r0:=-1/6*d* (B*d-A*e) * (cxd-b*xe) x (d+e*x) “6/e”~4+1/7* (B*d* (3*xc*d-2*bxe) - _
Axex (2*xcxd-b*e) ) x (d+e*x) "7/e”~4-1/8* (3*B*cxd-b*B*xe-Axc*e) * (d+e*xx) "8/e”~4+_

1/9%Bxc* (d+e*x) “9/e"4

99 1 1
+ ((-Ac+-
--R 9 8 8

+(-Ac+-B

--R 5 8 5 5
+ (-Ac+ -
--R 6 3 3

27
(20 bde + (2A c +
--R 5 36 5 5
(-Abde + (-Ac+ -
--R 2 4 4

--R 3 3 3

(-—-Ac+-—-B
168 168

--S 6 OF 765
d0:=normalize (t0-D(x0,x))
--R

--R

2B b)d e

9 5 8 8
+-Bcde)x
8

B b)e

8 10 27 7
+ --Bcde)x
7

b)d e

27 5 36 6
Bb)dde +-Bcde)x
3

36 45 5
+Bcde)x

4 5 1 54 4
Bbdde +-Bcde)x
4

54 3 1 54 2 1 72

Bb)dde)x +-Abdex --—-Abde
2 42

-——Bcd
504

Type: Fraction(Polynomial (Fraction(Integer)))



--R Type: Expression(Integer)
--E 6

)Jclear all

--S 7 OF 765
£0:=(A+B*x) * (d+e*x) “4* (b*x+c*x~2)

--R 4 7 4 3 6
--R Bcex + ((Ac+Bble +4Bcde)dx

--R 4 3 22 5
--R (Abe + (4A c +4Bb)de +6Bcde)x

--R 3 2 2 3 4
--R (4Abde + (BAc+6Bb)de + 4B c d e)x

--R 2 2 3 4 3 3 4 2
--R (BAbde + (4Ac +4Bb)de+Bcd)x + (4Abde+ (Ac+ Bb)d)x

--R Type: Polynomial(Integer)
-E 7

--S 8 OF 765

r0:=-1/5*%d* (B*d-A*e) * (cxd-b*e) x (d+e*x) “5/e”~4+1/6* (B*d* (3*xc*d-2*bxe) - _
Axex (2xc*d-b*e)) * (d+e*x) “6/e"4-1/7*(3*Bxc*d-b*Bxe-A*c*e) * (d+e*x) “7/e 4+_
1/8*B*c* (d+e*x) "8/e"4

--R -Bcex + ((-Ac+-Bble +

|
(o5}

cde)x

--R 1 8 2 2 7 26 6
--R (-Abe +(-Ac+-Bb)de +Bcde)dx

--R (-Abde +(-Ac+-Bb)de
--R 5 5 5 5

+
|

Bcde)x

--R 3 26 35 1 4 4 4
--R (-Abde + (Ac+Bb)de +-Bcde)x
--R 2 4



--R 4 35 1 1 4 4 3 1 4 4 2 1 6 2
--R (-Abde +(-Ac+-Bb)de)x +-Abdex --—-Abde
--R 3 3 3 2 30

--R 1 1 7 1 8
--R (-—-Ac+-—-Bbdde--—-Bcd
--R 105 105 280

--R Type: Fraction(Polynomial (Fraction(Integer)))

--S 9 OF 765
d0:=normalize (t0-D(r0,x))

--R Type: Expression(Integer)
--E 9

)Jclear all

--S 10 OF 765
t£0:=(A+B*x) * (d+e*xx) ~3* (b*xx+c*x"2)

--R (D)
--R 36 3 2 5
--R Bcex + ((Ac+Bble +3Bcde)x

--R 3 2 2 4
--R (Abe + (BAc+3Bbdde + 3 cde)x

--R 2 2 3 3 2 3 2
--R (3 bde + (BAc+3Bb)de+Bcdlx + (3Abde+ (Ac+Bhb)d)x

--R Type: Polynomial(Integer)
--E 10

--S 11 OF 765

r0:=-1/4*d* (B¥d-A*e) * (cxd-b*xe) x (d+e*x) “4/e”4+1/5% (B*d* (3*xc*d-2*bxe) - _
Axex (2xc*d-bxe)) * (d+e*x) "5/e"4-1/6x (3*Bxc*d-b*Bxe-A*c*e) * (d+e*x) "6/e 4+_
1/7*B*c* (d+e*x) "7/e"4



--R 1 TT 1 1 7 1 6 6
--R -Bcex + ((-Ac

+
I
[sv}
o’
7

)
+
|
o5}
O
Q.
()
~
]

--R (-Abde +(-Ac+-Bb)de +
--R 4 4 4 4

Bcde)x

--R 25 1 1 34 3 1 342 1 52
--R (Abde +(-Ac+-Bb)de)x +-Abdex --—-Abde
--R 3 3 2 20

--R 1 1 6 1 7

--R (——-Ac+--Bb)de----Bcd
--R 60 60 140

--R Type: Fraction(Polynomial(Fraction(Integer)))

--S 12 OF 765
d0:=normalize (t0-D(xr0,x))

--R Type: Expression(Integer)
--E 12

)clear all
--S 13 OF 765

£0:=(A+B*x) * (d+exx) ~2* (b*xx+c*x"2)

--R (1)
--R 25 2 4
--R Bcex + ((Ac+Bble + 2Bcde)x

--R 2 2 3 2 2
--R (Abe + 2 c+2Bb)de+Bcd)x + (20 bde+ (Ac+ Bb)d)x

--R Abdx
--R Type: Polynomial(Integer)



--S 14 OF 765
r0:=1/2%Axb*d"2*x"2+1/3*d* (b*B*d+A*ckd+2*Axb*e) *x~3+1/4* (Axe*x (2*c*d+b*xe) +_
Bxd* (c*d+2*b*e) ) xx~4+1/5*ex (2*B*cxd+b*B*xe+Axc*e) *x~5+1/6*B*xcxe”~2*x"6

--R

--R  (2)

--R 1 26 1 1 2 2 5

--R -Bcex + ((-Ac+-Bb)e +-Bcde)x

--R 6 5 5 5

__R +

--R 1 2 1 1 1 2 4

--R (-Abe +(-Ac+-Bb)de+-Bcd)x

--R 4 2 2 4

__R +

--R 2 1 1 2 3 1 2 2

--R (-Abde+ (-Ac+-Bb)d)x +-Abdx

--R 3 3 3 2

--R Type: Polynomial (Fraction(Integer))

--E 14

--S 15 OF 765

d0:=normalize (t0-D(x0,x))

--R

--R

--R (3) 0

--R Type: Expression(Integer)

--E 15

)clear all

--S 16 OF 765

t£0:=(A+B*x) * (d+e*xx) * (b*x+c*x"2)

--R

--R

--R (1)

--R 4 3 2

--R Bcex +((Ac+Bble+Bcd)x + (Abe+ (Ac+Bb)d)x +Abdx

--R Type: Polynomial(Integer)

--E 16

--S 17 OF 765

r0:=1/2%Axb*d*x"~2+1/3% (b*B*d+A*cxd+A*b*e) *x~3+1/4* (Bxc*d+b*Bre+A*cke) ¥x~4+_
1/5*Bxc*e*xx”5

--R

--R

--R (2

--R 1 5 1 1 1 4

--R -Bcex + ((-Ac+-Bble+-Bcdx

--R 5 4 4 4



--R 1 1 1 3 1 2

--R (-Abe+ (-Ac+-Bbdx +-Abdzx

--R 3 3 3 2

--R Type: Polynomial(Fraction(Integer))
--E 17

--S 18 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 18

)clear all

--S 19 OF 765

t£0:=(A+B*x) * (b*x+Cc*x"2)

--R

--R

--R 3 2

--R (1) Bcx + (Ac+Bbx +Abx

--R Type: Polynomial (Integer)
--E 19

--S 20 OF 765

r0:=1/2%A*b*x"2+1/3* (b*B+A*c) *x~3+1/4*B*xc*x"4

--R

--R

--R 1 4 1 1 3 1 2

--R (2) -Bcx +(-Ac+-Bb)x +-Abx

--R 4 3 3 2

--R Type: Polynomial(Fraction(Integer))
--E 20

--S 21 OF 765

d0:=normalize (t0-D(r0,x))

--R

--R

--R  (3) ©

--R Type: Expression(Integer)
--E 21

)clear all

--S 22 OF 765
t0:=(A+B*x) * (b*x+c*x~2) / (d+e*x)
--R

--R

10



--R 3 2

--R Bcx +(Ac+Bb)x +Abzx

-k 1) ---- - -

--R ex +d

--R Type: Fraction(Polynomial(Integer))
--E 22

--S 23 OF 765
r0:=(B*d-A*e) * (cxd-b*e) *x/e~3-1/2* (Bkc*d-b*Bxe—-A*c*e) *x"~2/e"2+_
1/3*%Bxc*x"3/e-d* (Bxd-Axe) * (cxd-bxe) *xlog(d+e*xx) /e”~4

--R 2 2 3 33
--R (-6Abde + (6Ac +6Bb)de-6Bcd)log(ex+d) +2Bcex

--R 3 2 2
--R ((BAL c +3Bble -3Bcde)x

--R 3 2 2
--R (BAbe + (-6Ac-6Bb)de + 6Bcdelx

--R Type: Expression(Integer)

--S 24 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 24

)Jclear all

--S 25 OF 765
£0:=(A+B*x) * (bxx+c*x"2) / (d+e*x) "2

--R 3 2

--R Bcx +(Ac+Bb)x +Abzx

--R 1) ---- -==

--R 22 2

--R ex +2dex+d

--R Type: Fraction(Polynomial(Integer))
--E 25

--S 26 OF 765

11



r0:=-(2xB*cxd-b*B*xe-A*xc*xe) *x/e"3+1/2*¥Bxc*x~2/e”2+d* (Bxd-Axe) *_
(cxd-bxe) / (e~4* (d+exx))+(B*d* (3kckd-2%b*e) —~Axex (2xc*d-bxe) ) xlog(d+e*x) /e"4

--R 3 2 2 2
--R (2Ahbe + (-4Ac-4Bb)de +6Bcde)x+20bde

--R 2 3
--R (- 4A c -4Bb)de+6Bcd

--R log(e x + d)

--R 33 3 2 2
--R Bcex + ((20c+2Bb)e -3Bcde)x

--R 2 2 2 2 3
--R (A c+2Bb)de -4Bcde)x+20bde + (-20c-2Bb)de+2Bcd
--R /

--R Type: Expression(Integer)
--E 26

--S 27 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 27

)clear all

--S 28 OF 765
£0:=(A+B*x) * (bxx+c*x"2) / (d+e*x) "3

--R 3 2
--R Bcx +(Ac+Bb)x +Abx

--R 1) ---- -—=

--R 33 22 2 3

--R ex +3dex +3dex+d

--R Type: Fraction(Polynomial(Integer))
--E 28

--S 29 OF 765

r0:=B*c*x/e~3+1/2*d* (Bxd-Axe) * (cxd-b*e) / (e~ 4* (d+exx) "2) + (-B*d* (3*c*xd-_
2%bxe) +Axe* (2*ckd-b*e)) /(e 4* (d+e*x)) - (3*Bxc*d-b*Bre-A*xcxe) *log(d+_
exx)/e"4

12



--R 3 2 2 2 2
--R ((2A c + 2B b)e - 6Bcde )x + ((4Ac + 4B b)de - 12B c d e)x

--R 2 3
--R (20 c + 2B b)d e - 6B c d

--R log(e x + d)

--R 33 2 2 3 2 2
--R 2Bcex +4Bcdex +(-20be + (4Ac + 4B b)de - 4B c d e)x

--R 2 2 3
--R -Abde + (3L c+3Bb)de-5Bcd

--R 6 2 5 2 4

--R 2e x +4dex +2de

--R Type: Expression(Integer)
--E 29

--S 30 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 30

)clear all

--S 31 OF 765
£0:=(A+B*x) * (b*x+c*x~2) / (d+e*x) ~4

--R 3 2

--R Bcx +(Ac+Bb)x +ADbzx

--R (1) ---- -—= -—= -—=

--R 4 4 33 222 3 4

--R ex +4dex +6dex +4dex +d

--R Type: Fraction(Polynomial(Integer))
--E 31

--S 32 OF 765

r0:=1/3*d* (Bxd-Axe) * (cxd-b*e) / (e~ 4* (d+e*x) “3) +1/2% (-B*d* (3kcxd-2%b*e) +_
Axex (2+xcxd-b*e) )/ (e~ 4* (d+e*xx) ~2)+(3*Bxc*d-b*Bxe-A*xc*xe) /(e 4* (d+e*x) ) +_
Bxc*log(d+e*x)/e"4

--R

--R

13



-k (2)
--R 33 22 2 3
--R (Bcex +18Bcdex + 18Bcdex + 6B cd)log(e x + d)

--R 3 2 2
--R ((-6A c-6Bb)e + 18B cd e )x

--R 3 2 2 2
--R (-3 be +(-6Ac-6Bb)de +27TBcde)x-Abde

--R 2 3
--R (-20c-2Bb)de+ 11Bc d

--R 73 6 2 25 3 4
--R 6ex + 18dex + 18d e x + 6d e
--R Type: Expression(Integer)

--S 33 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 33

)Jclear all

--S 34 OF 765
£0:=(A+B*x) * (bxx+c*x"2) / (d+e*x) "5

--R 3 2
--R Becx + (Ac+Bb)x +Abx

--R (1) - -—= -—= -—= -

--R 55 4 4 233 322 4 5

--R ex +5dex +10dex + 10dex +5bdex+d

--R Type: Fraction(Polynomial(Integer))
--E 34

--S 35 OF 765

r0:=1/4*d* (B*d-Axe) * (c*d-b*e) / (e"4*x (d+e*x) ~4)+1/3* (-B*xd* (3*xcxd-2%b*e) +_
Axex (2%c*d-bxe)) /(e”4*(d+e*x) "3)+1/2% (3*Bxcxd-b*B*e-A*xc*e) /(e 4*_
(d+e*x) ~2)-B*c/ (e~ 4*x(d+e*xx))

--R 33 1 1 3 3 2 2
--R -Bcex +((--Ac--Bb)e --Bcde)x
--R 2 2 2

14



--R 1 3 1 1 2 2 1 2
--R (--Abe +(--Ac--Bb)dde -Bcde)x--—-Abde
--R 3 3 3 12

--R 1 1 2 1 3
--R (---Ac---Bbdde--Bcd
--R 12 12 4

--R 8 4 73 262 35 4 4

--R ex +4dex +6dex +4dex +de

--R Type: Fraction(Polynomial (Fraction(Integer)))
--E 35

--S 36 OF 765
d0:=normalize (t0-D(r0,x))

--R Type: Expression(Integer)
--E 36

)Jclear all

--S 37 OF 765
£0:=(A+B*x) * (b*x+c*x"2) / (d+e*x) "6

--R 3 2
--R Bcx + (Ac+Bb)x +Abx

--R ex +6dex +16dex +20dex + 16dex +6de x +d
--R Type: Fraction(Polynomial(Integer))
--E 37

--S 38 OF 765

r0:=1/5%d* (Bxd-A*e) * (cxd-bxe) / (e"4* (d+e*xx) “5)+1/4% (-B*d* (3*xc*d-2%b*e) +_
Axex (2+xcxd-b*e) )/ (e~ 4* (d+e*xx) ~4)+1/3*% (3*B*xcxd-b*B*e-Axc*e) / (e~ 4*_
(d+exx) ~3)-1/2%Bxc/ (e 4* (d+e*x) ~2)

--R 1 33 1 1 3 1 2 2
--R --Bcex +((--Ac--Bble --Bcde)x
--R 2 3 3 2

--R 1 3 1 1 2 1 2 1 2

--R (--Abe +(--Ac--Bb)de --Bcde)x--—-Abde
--R 4 6 6 4 20

15



--R 1 1 2 1 3
--R (---Ac---Bb)de---Bcd
--R 30 30 20

--R 95 8 4 273 362 45 5 4

--R ex +bdex +10dex +10dex +5bdex+de

--R Type: Fraction(Polynomial(Fraction(Integer)))
--E 38

--S 39 OF 765
d0:=normalize (t0-D(xr0,x))

--R Type: Expression(Integer)
--E 39

)clear all

--S 40 OF 765
£0:=(A+B*x) * (b*x+c*x~2) / (d+e*x) ~7

--R 3 2
--R Bcx + (Ac+Bbx +Abx

--R 77 6 6 255 344 4 33 522 6 7
--R ex +7dex +2ldex +35dex +3dex +2ldex +7dex+d
--R Type: Fraction(Polynomial(Integer))
--E 40

--S 41 OF 765

r0:=1/6%d* (Bxd-A*e) * (cxd-bxe) / (e"4* (d+e*xx) “6) +1/5% (-B*d* (3*xc*d-2%b*e) +_
Axex (2+xcxd-b*e) )/ (e~ 4* (d+e*xx) "5)+1/4* (3*B*xcxd-b*B*e-A*xc*e) / (e~ 4*_
(d+exx) ~4)-1/3%Bxc/ (e 4* (d+e*x) ~3)

--R 1 33 1 1 3 1 2 2
--R --Bcex +((--Ac--Bble --Bcde)x
--R 3 4 4 4

--R 1 3 1 1 2 1 2 1 2
--R (--Abe +(--—-Ac---Bb)de --—-Bcde)x--—-Abde
--R 5 10 10 10 30

--R 1 1 2 1 3
--R (---Ac---Bb)de---Bcd

16



--R 60 60 60

--R 10 6 95 284 373 46 2 55 6 4

--R e x +6dex +1bdex +20dex + 16dex +6dex +de

--R Type: Fraction(Polynomial(Fraction(Integer)))
--E 41

--S 42 0OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 42

)clear all

--S 43 OF 765

t£0:=(A+B*x) * (d+e*xx) “m* (b*x+c*x"2) "2

--R

--R

--R 25 2 4 2 3 2 2 m
--R (1) Bcx +(Ac +2Bbc)x + R2Abc+Bb)l)x +Abx)(ex+d
--R Type: Expression(Integer)
--E 43

--S 44 OF 765

r0:=-d" 2% (B*d-A*e) * (c*d-bxe) ~2* (d+e*x) ~ (1+m) / (e~ 6* (1+m) ) +d* (c*xd-b*e) *_
(Bxd* (5%c*xd—-3%b*e) —2xAkxe* (2xcxd-b*e) ) * (d+e*x) ~(2+m) / (e~ 6% (2+m) ) +_
(Axex (6%c™2xd"~2-6*bxckxd*e+b”2xe”2) -Bxd* (10*c~2*d~2-12*b*cxd*e+_
3xb~2%e”2) ) * (d+e*x) "~ (3+m) / (e~ 6% (3+m) ) - (2*kA*cxe* (2xc*xd-b*e) - _
B* (10*c~2*d"~2-8*b*c*xd*e+b~2*e~2) ) * (d+e*x) ~ (4+m) / (e"6* (4+m) ) —_
c* (5xBxc*d-2*xb*B*xe-Axc*xe) * (d+exx) ~ (5+m) / (e~ 6+ (5+m) ) +B*c~2%_
(d+e*x) " (6+m) / (e~ 6% (6+m))

--R 25 2 4 23 2 2 2 2
--R (Bcm +15Bcm +8Bcm + 225Bcm + 274B cm + 120B c )

--R m+ 6
--R (e x + d)

--R 2 2 5 2 2 4
--R ((Ac +2Bbc)e-5Bcdm + ((16Ac + 32B b c)e - 80B ¢c d)m

--R 2 2 3
--R ((95A ¢ + 190B b c)e - 475B c d)m

17



((260A ¢ + 520B b c)e - 1300B c d)m

2

((324A ¢ + 648B b c)e - 1620B c d)m + (144A c

m+ 5
(e x + d)

2 2

2

((2Abc+Bble + (-4Ac

2 2

2

2

2

2

2

+ 288B b c)e - 720B c d

5

-8 bc)de+ 10B c d )m

2

((34A b c + 17B b )e + (- 68A c

2 2

22 4

- 136B b c)d e + 170B c d )m

((214A b c + 107B b )e + (- 428A c

2 2

2

((614A b c + 307B b )e + (- 1228A ¢

2 2

((792A b c + 396B b )e + (- 1584A c

2 2

(360A b c + 180B b )e + (- 720A c

m+ 4
(e x + d)

23 2

2

(Abe +(-6Abc-3b)lde

23

2

2

2

2

- 856B b c)d e

- 2456B b c)d

- 3168B b c)d

- 1440B b c)d e

2

+ (6A ¢

2

188 be + (- 1084 bc-54Bblde +

23
- 180B c d

23

2

2

121A b e + (- 726A b c - 363B b )d e

23
- 1210B c d

18

2
(108A ¢

+ (726A ¢

+

e

e

+

+

2

22 3
1070B ¢ d )m

22 2
+ 3070B c d )m

22
+ 3960B c d )m

22
1800B c d

23 5

+ 12B b c)d e - 10B c d )m

2
216B b c)d e

2
+ 1452B b c)d e



23
372A b e

2
(2232A ¢

23
508A b e

2
(3048A ¢

23

+

+

2 2
(- 2232A b c - 1116B b )d e

2 23
4464B b c)d e - 3720B c d

2 2
(- 3048A b c - 1524B b )d e

2 23
6096B b c)d e - 5080B c d

2 2 2

2

240A b e + (- 1440A b c - 720B b )d e + (1440A ¢ + 2880B b c)d e

23
- 2400B c d

m+ 3
(e x + d)

2
-2Abd

24
5B c d

2

3
e

- 38A bde

24
95B ¢ d

2

2 22 2

3

+ (BAbc+3Bbl)de + (-4A0c -8B bc)de

3 2 22
+ (114A b c + 57B b )d e + (- 76A c

3 2 22

- 274A bde + (8220 b c + 411B b )d e

(- 548A ¢

2

3 24
- 1096B b c)d e + 685B c d

19

2

3
- 152B b c)d e



2
- 922A b d

(- 1844A c

2
- 1404A b

(- 2808A ¢

2 3
- 720A b d e

2
(- 1440A ¢ -

m+ 2
(e x + d)

223
(Abde + (-

223
200 b d e

25
- 20B c d

22
1556A b d e

2
(1554 ¢+

3 2 22
e + (2766A b c + 1383B b )d e

2 3 2 4
- 3688B b c)d e + 2305B c d

3 2 22
de + (42120 b c + 2106B b )d e

2 3 24
- 5616B b c)d e + 3510B c d

2 22
+ (2160A b ¢ + 1080B b )d e

3 24
2880B b c)d e + 1800B c d

2 32 2 4 25
20 bc-Bb)de + (Ac +2Bbc)de -Bcd)m

2 32 2 4
+ (- 40Abc-20Bb)de + (200 c + 40Bb c)d e
3 2 32
+ (- 310A b c - 165B b )d e
4 25
310B b c)d e - 155B ¢ d

20

5



--R 223 2 32
--R 580A bde + (- 1160A b c - 580B b )d e

--R 2 4 25
--R (680A ¢ + 1160B b c)d e - 580B c d

--R 223 2 32
--R 1044A b de + (- 2088A b c - 1044B b )d e

--R 2 4 25
--R (1044A ¢ + 2088B b c)d e - 1044B c d

--R 223 2 32 2 4
--R 720A b de + (- 1440A b c - 720B b )d e + (720A ¢ + 1440B b c)d e

--R 25

--R - 720B c d

--R (e x + d)

--R 6 6 6 5 6 4 6 3 6 2 6 6

--R em + 2lem + 175em + 735em + 1624e m + 1764e m + 720e

--R Type: Expression(Integer)

--E 44

--S 45 QOF 765
d0:=normalize (t0-D(r0,x))

--R Type: Expression(Integer)
--E 45

)clear all

--S 46 OF 765

£0:=(A+B*x) * (d+e*x) ~4* (b*x+c*x~2) "2

--R

--R

--R (1)

--R 249 2 4 2 3 8

--R Bcex +((Ac +2Bbc)e +4Bcde )x

__R +

--R 2 4 2 3 222 7
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--R (PAbc+Bble + (4Ac +8Bbc)de +6Bcde)x

--R 2 4 2 3 2 2 2 2 3 6
--R (Abe + (BAbc+4Bb)de + (BAc + 12Bb c)de + 4B c d e)x

--R 2 3 2 22 2 3 24 5
--R (4Abde + (120 bc+6Bb)de + (4Ac +8B bc)de+Bcd)x

--R 222 2 3 2 4 4
--R (Abde + (BAbc+4BDb)de+ (Ac + 2B b c)d)x

--R 23 2 4 3 242

--R (4Abde+ (26 bc+Bb)d)x +Abdx

--R Type: Polynomial(Integer)
--E 46

--S 47 OF 765

r0:=-1/5%d"2* (Bxd-A*e) * (cxd-b*e) "2* (d+e*x) "5/e"6+1/6*d* (c*d-b*e) * (Bxd*_
(5*cxd-3*b*e) -2xAxex (2xcxd-b*e) ) *x (d+e*x) "6/e”6+1/T* (Axex (6*xc~2*xd"2-_
6*b*ckdke+b”~2xe~2) -B*d* (10*c~2*%d~2-12%b*cxd*e+3*b"2%e~2) ) *_
(d+e*x) "7/e~6-1/8* (2xA*xc*e* (2xckd-b*e) -B* (10*c~2*d"~2-8*b*c*d*e+_
b~2xe"2) ) * (d+e*x) "8/e"6-1/9*c* (5*Bxc*d-2*b*Bxe-A*xc*e) *_
(d+e*x) "9/e"6+1/10%Bxc~2* (d+e*x) ~10/e"6

--R 1 2 10 10 1 2 2 10 4 2 9 9
--R -—-Bce x +((-Ac +-Bbcle +-Bcde)x
--R 10 9 9 9

--R 1 1 2 10 1 2 9 3 228 8
--R (FAbc+-Bb)e +(-Ac +Bbc)de +-Bcde)x
--R 4 8 2 4

--R 1 2 10 8 4 2 9 6 2 12 2 8
--R -Abe +(-Abc+-Bb)de + (-Ac +-—-Bboc)de
--R 7 7 7 7 7

--R 4 237
--R -Bcde

--R 2 2 9 2 28 2 2 4 37
--R -Abde + 2Abc+Bb)de +(-Ac +-Bbc)de
--R 3 3 3
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--R 6 228 8 4 2 37 1 2 2 46 5
--R (-Abde +(-Abc+-Bb)de +(-Ac +-Bbc)de)dx
--R 5 5 5 5 5

--R 237 1 1 2 46 4 1 246 3 1 27 3
--R (Abde +(-Abc+-Bb)de)x +-Abdex +-—Abde

--R 2 4 3 105

--R 1 1 2 82 1 2 1 9 1 2 10

--R (--—-Abc----Bb)de +(--—-Ac +-—-Bbc)de-----Bcd
--R 140 280 630 315 1260

--R Type: Fraction(Polynomial (Fraction(Integer)))

--S 48 OF 765
d0:=normalize(t0-D(x0,x))

--R Type: Expression(Integer)
--E 48

)Jclear all
--S 49 OF 765

t£0:=(A+B*x) * (d+e*xx) ~3* (b*x+c*x~2) "2

--R (1)
--R 238 2 3 2 2 7
--R Bcex +((Ac +2Bbc)e +3Bcde)x

--R 2 3 2 2 22 6
--R (2Abc+Bble + (3BAc +6Bbc)de + 3Bcdelx

--R 23 2 2 2 2 23 5
--R (Abe + (Abc+3Bb)de + (3Ac +6Bbc)de+Bcd)x

--R 2 2 2 2 2 3 4
--R (A bde + (Abc+3Bblde+ (Ac +2Bbc)d)x
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--R 22 2 3 3 232

--R BAbde+ (2Ahbc+Bb)d)x +Abdx

--R Type: Polynomial(Integer)
--E 49

--S 50 OF 765

r0:=1/3*%A*xb~2%d"3*x"~3+1/4xb*xd" 2% (b*B*kd+2*Axckxd+3*Axbke) *x~4+1/5*%d* (A*xc”~ 2% _
d"2+3*b"~2%e* (Bxd+A*e) +2xbkc*xd* (Bxd+3*A*e) ) xx"5+1/6% (A*xe* (3*xc~2%d"2+_
6*b*ckxdre+b”2xe~2) +B*d* (c~2*d"2+6*b*c*d*xe+3*b " 2%e~2) ) *x"6+1/T*e*_
(Axcxe* (3kc*xd+2xbxe) +B* (3kc~2*xd " 2+6*b*xcxd*e+b " 2xe”2) ) *x~7+_
1/8%c*e”2x (3*B*xc*d+2*b*B*e+A*cke) *x"8+1/9*%Bxc~2*e"3*x"~9

--R (2)

--R 1 239 1 2 1 3 3 2 2 8
--R -Bcex +((-Ac +-Bbcle +-Bcde)x
--R 9 8 4 8

--R 2 1 2 3 3 2 6 2 3 22 7
--R (WFAbc+-Bb)e +(-Ac +-Bbc)de +-Bcde)x
--R 7 7 7 7 7

--R 1 23 1 2 2 1 2 2 1 23 6
--R (-Abe +(Abc+-Bb)de + (-Ac +Bbc)de+-Bcd)x
--R 6 2 2 6

--R 3 2 2 6 3 2 2 1 2 2 3 5
--R (-Abde +(-Abc+-Bb)de+ (-Ac +-Bbc)d)x
--R 5 5 5 5 5

--R 3 22 1 1 2 3 4 1 233

--R (-Abde+(-Abc+-Bbl)d)x +-ADbdzx

--R 4 2 4 3

--R Type: Polynomial(Fraction(Integer))
--E 50

--S 51 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E b1

)Jclear all
--S 52 OF 765
t£0:=(A+B*x) * (d+exx) ~2* (b*x+c*x~2) "2

--R
--R
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--R (1)
--R 227 2 2 2 6
--R Bcex + ((Ac +2Bbc)e + 2B cd e)x

--R 2 2 2 22 5
--R (2Abc+Bble + (20 c +4Bbc)de+Bcd)x

--R 2 2 2 2 2 4
--R (Abe + UAbc+2Bb)de+ (Ac + 2B Db c)d)x

--R 2 2 2 3 222

--R (2hbde+ (20 bc+Bbl)d)x +Abdx

--R Type: Polynomial(Integer)
--E 52

--S 53 OF 765

r0:=1/3*%A*xb~2%d "~ 2*x"~3+1/4*b*xd* (b*B*xd+2*A*xcxd+2*xA*xbxe) *x~4+1/5*% (A*c~2*xd~2+_
b~ 2*e* (2xBkd+A*e) +2xb*c*d* (Bkd+2*A*e) ) *x"5+1/6% (2*%Axc*xe* (cxd+b*e) +_
B* (c~2%d"~2+4*b*ckd*xe+b 2*e~2) ) *x~6+1/T*xc*xex (Axcxe+2*B*x (cxd+bxe) ) *_
X"7+1/8%Bxc"2%e"2%x"8

--R (2)

--R 1 228 1 2 2 2 2 2 7
--R -Bcex +((-Ac +-Bbcle +-Bcdelx
--R 8 7 7 7

--R 1 1 2 2 1 2 2 1 22 6
--R (WFAbc+-Bb)e +(-Ac +-Bbc)de+-Bcd)x
--R 3 6 3 3 6

--R 1 2 2 4 2 2 1 2 2 2 5
--R (-Abe +(-Abc+-Bb))de+ (-Ac +-Bbc)d)x
--R 5 5 5 5 5

--R 1 2 1 1 2 2 4 1 223

--R (-Abde+ (-Abc+-Bbl)d)x +-Abdx

--R 2 2 4 3

--R Type: Polynomial (Fraction(Integer))
--E B3

--S 54 OF 765
dO:=normalize(t0-D(r0,x))

--R Type: Expression(Integer)
--E 54

)Jclear all
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--S 55 OF 765
t£0:=(A+B*x) * (d+e*x) * (b*x+c*x~2) "2

--R (1)
--R 2 6 2 2 5
--R Bcex + ((Ac +2Bbc)e+Bcdx

--R 2 2 4 2 2

--R (CAbc+Bble+ (Ac +2Bbc)d)x + (Abe+ (20 bc + B b)dx

--R Type: Polynomial (Integer)

--E 55

--S 56 OF 765
r0:=1/3%A*b~2%d*x"3+1/4*b* (b*B*d+2*xA*cxd+A*b*e) *x~4+1/5% (Axc~2*d+b~2xB*xe+_
2%b*ck (Bxd+A*e) ) *x"5+1/6*c* (Bxckxd+2*xb*Bxe+A*xc*e) *x~6+1/T*Bxc " 2%exx"7

--R (2)

--R 1 2 7 1 2 1 1 2 6
--R -Bcex +((-Ac +-Bbec)e+-Bcdx
--R 7 6 3 6

--R 2 1 2 1 2 2 5
--R (WFAbc+-Bbl)e+(-Ac +-Bbocdx
--R 5 5 5 5

--R 1 2 1 1 2 4 1 2 3
--R (-Abe+(-Abc+-Bb)d)x +-Abdzx
--R 4 2 4 3

--R Type: Polynomial (Fraction(Integer))

--E 56

--S 57 OF 765
d0:=normalize(t0-D(r0,x))

--R Type: Expression(Integer)

--E 57
)clear all
--S 58 OF 765

£0:=(A+B*x) * (b*x+c*x~2) "2
--R
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--R 25 2 4 2 3 22

--R (1) Bcx + (Ac +2Bbc)x + (20 bc+Bb)lx +Abx

--R Type: Polynomial(Integer)
--E 58

--S 59 OF 765

r0:=1/3*A*xb"2%x"~3+1/4%b* (b*B+2*Axc) *x"4+1/5*c* (2%b*B+A*c) *x"5+1/6*B*xc~2%x"6

--R 1 26 1 2 2 5 1 1 2 4 1 23
--R (2) -Bcx +#(-Ac +-Bboc)x +(-Abc+-Bblx +-Abx

--R 6 5 5 2 4 3

--R Type: Polynomial(Fraction(Integer))
--E 59

--S 60 OF 765
d0:=normalize (t0-D(xr0,x))

--R Type: Expression(Integer)
--E 60

)clear all

--S 61 OF 765
£0:=(A+B*x) * (bxx+c*x"~2) "2/ (d+e*x)

--R 25 2 4 2 3 22

--R Bcx +(Ac +2Bbc)x + 2Abc+Bbl)x +Abx

--R 1) ---- -—- -—- -—- --

--R e x +d

--R Type: Fraction(Polynomial(Integer))
--E 61

--S 62 OF 765

r0:=d* (Bxd-A*e) * (cxd-b*e) "2*x/e"5-1/2* (Bxd-Ax*e) * (cxd-b*e) "2*xx"~2/e 4~ _
1/3% (Axcke* (cxd-2xbxe) -B* (ckd-b*e) “2) *x"3/e"3-1/4*c* (Bkc*d-2%b*B*e—_
Axcxe)*x"4/e”2+1/5%Bxc”2xx"5/e-d " 2% (Bxd-A*e) * (cxd-b*e) "2xlog(d+e*x) /e"6

--R 223 2 32 2 4
--R 60A bde + (- 1200 bc -60Bb)de + (60Ac + 120B b c)d e

--R 25
--R - 60B cd
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--R log(e x + d)

--R 255 2 5 2 4 4
--R 12Bcex + ((15A c + 30Bb c)e - 15B c d e )x

--R 2 5 2 4 223 3
--R ((40A b c +20Bb e + (-20Ac -40Bbc)de + 20Bc de )x

--R 25 2 4 2 23
--R 30Abe + (-60Abc-30BDb)de + (30Ac + 60Bbc)de

--R 2 4 2 23 2 32
--R -60Abde + (1200 bc +60Bb)de + (-60Ac - 120Bb c)d e

--R 2 4
--R 60B c d e

--R Type: Expression(Integer)

--S 63 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 63

)clear all

--S 64 OF 765
t£0:=(A+B*x) * (b*x+c*x~2) "2/ (d+e*x) "2

-R 25 2 4 2 3 22
--R Bcx +(Ac +2Bbc)x + 20 bc+Bblx +ADbx

--R (1) - -—= - -

--R 22 2

--R ex +2dex+d

--R Type: Fraction(Polynomial(Integer))
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--E 64

--S 65 OF 765

r0:=-(cxd-b*e) * (2*xBxd* (2*xcxd-b*e) ~Axe* (3*cxd-b*e) ) xx/e " 5+1/2*x (c*d-b*xe) *_
(3*Bxc*d-b*Bxe-2%Axcke) *x"2/e~4-1/3*c* (2*B*xcxd—2*b*Bxe—A*xc*e) *x~3/e"3+_
1/4*B*c”2xx"~4/e”2+d"~2* (Bxd-A*e) * (cxd-b*e) "2/ (e~ 6* (d+e*xx) ) +d*_
(c*xd-b*e) * (Bkxd* (5*c*d—-3*bxe) -2xA*xe* (2¥c*d-b*e) ) ¥log(d+e*x) /e"6

--R  (2)
--R 2 4 2 23 2 32
--R -24Abde + (720 bc +3Bb)de + (-480c - 96Bb c)d e

--R 2 4
--R 60B c d e

--R 223 2 32 2 4
--R -24Abde + (720 bc +36Bb)de + (-480c -96Bbcl)d e

--R 25
--R 60B c d

--R log(e x + d)

--R 255 2 5 2 4 4
--R 3Bcex + ((4Ac +8Bbcle -5Bcde)x

--R 2 5 2 4 223 3
--R ((12A bc+6BDble + (-8Ac -16Bbc)de + 10Bc d e )x

--R 25 2 4 2 23
--R 120 be + (-36ADbc-18Bb)de + (24A c + 48B b c)d e

--R 232
--R - 30B cde

--R 2 4 2 23 2 32
--R 120 bde + (-48.bc-24Bb)de + (36Ac + 72B b c)d e

--R 2 4
--R - 48B c d e
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--R - 120 bde + (24Abc + 12Bb )d e

--R /
--R 7 6
--R 12e x + 12d e
--E 65

--S 66 OF 765
d0:=normalize (t0-D(x0,x))

--E 66
)clear all

--S 67 OF 765

£0:=(A+B*x) * (b*x+c*xx~2) "2/ (d+e*x) "3

--R 25 2
--R Becx + (Ac
--R 1) ---- -

+ (- 120 ¢ - 24Bbc)de + 12B c d

Type: Expression(Integer)

Type: Expression(Integer)

3 22

+ (20 bc+Bb)x +Abx

--R e

--E 67

--S 68 OF 765

+3dex+d
Type: Fraction(Polynomial(Integer))

r0:=-(Axc*ex (3*xcxd-2*bxe) -B* (6*xc~2*xd"2-6*b*c*d*e+b~2%e"~2) ) *x/e~5-1/2%c*_
(3*Bxc*d-2*b*Bke-Axckxe) *x"2/e”~4+1/3*%B*c”~2*%x"3/e"~3+1/2*d"~2* (Bxd-A*e) *_
(cxd-b*e) "2/ (e~ 6% (d+ex*xx) ~2) —d* (c*d-b*e) * (Bxd* (5xc*d-3*b*xe) —2*Axex*_
(2%c*d-bxe)) / (e~ 6% (d+e*x) )+ (A*ex (6*c~2xd"2-6*bxckd*e+b 2xe~2) —_
Bxd* (10*c~2*d~2-12%b*cxd*e+3*b~2%e”2) ) *log(d+e*x) /e”6

--R 25
--R 6A b e

--R 232
--R - 60B c d e

--R 2

--R 120 b d e

+ (-36Abc-18 b )d e

+ (-72Abc-36Bb)de

2 23

+ (36A c + 72B Db c)d e

2 32
+ (720 ¢ + 144B b c)d e



--R 2 4
--R - 120B c d e

--R b4

--R 223 2 32 2 4 25
--R 6Abde + (-36Abc-18Bb)de + (36Ac + 72Bb c)de - 60Bcd

--R log(e x + d)

--R 255 2 5 2 4 4
--R 2Bcex + ((BAc +6Bbcle -5Bcde)x

--R 2 5 2 4 223 3
--R (12 bc +6Bble + (120 c -24Bbc)de + 20Bc d e )x

--R 2 4 2 23 232 2
--R ((24A bc+12Bb )de + (-330c -66Bbc)de + 63Bcde)x

--R 2 4 2 23 2 32
--R 120 bde + (-24Abc-12Bb)de + (A c + 12B b c)d e

--R 2 4
--R 6B c d e

--R 223 2 32 2 4 25
--R 9Abde + (-30Abc-15Bb)de + (21Ac + 42Bb c)de - 27B c d

--R 8 2 7 26

--R 6e x + 12d e x + 6d e

--R Type: Expression(Integer)
--E 68

--S 69 OF 765
dO:=normalize(t0-D(r0,x))

--R Type: Expression(Integer)
--E 69

)Jclear all
--S 70 OF 765
t£0:=(A+B*x) * (b*x+c*x~2) "2/ (d+e*x) "4

--R 25 2 4 2 3 22
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--R Bcx +(Ac +2Bbc)x + (26 bc+Bblx +Abx

--R (1) ---- e -—= --

--R 4 4 33 222 3 4

--R ex +4dex +6dex +4dex +d

--R Type: Fraction(Polynomial(Integer))
--E 70

--S 71 OF 765

r0:=-c* (4*Bxc*d-2*xb*B*xe-A*c*e) *x/e~5+1/2+%Bxc”~2*x"2/e"4+1/3*d"~2* (Bxd-A*e) * _
(cxd-b*e) "2/ (e"6* (d+e*xx) "3)-1/2*d* (cxd-b*e) * (Bxd* (5*xc*xd-3*b*e) —_
2%Axex (2xc*kd-bxe) )/ (e"6*x (d+e*x) “2) +(—Axex (6*c~2*%d " 2-6*b*ckxd*re+_
b~2*e”2) +Bkd* (10*xc~2*d"2-12*b*c*d*e+3*b~2*e”~2)) /(e"6* (d+e*x) ) —_
(2%A*ckex (2%xcxd-b*e) -B* (10*c~2+d"2-8*bxc*d*e+b~2xe"2) ) xlog(d+e*x)/e"6

--R 2 5 2 4 223 3
--R (120 bc+6Bb)e + (-24Ac -48B bc)de + 60Bcde)dx

--R 2 4 2 23 232 2
--R ((36Abc+18Bb)de + (720 c - 144B b c)de + 180B c d e )x

--R 2 23 2 32 2 4
--R ((36Abc+18Bb)de + (720 c - 144B b c)d e + 180B c d e)x

--R 2 32 2 4 25
--R (120 bc+6Bb)de + (-24Ac -48B b c)d e + 60B c d

--R log(e x + d)

--R 255 2 5 2 4 4
--R 3BBcex + ((Ac + 12Bb c)e - 15B c d e )x

--R 2 4 223 3
--R ((18A ¢ +36Bbc)de -63Bcde )x

--R 25 2 4 2 23
--R -6Abe + (36Abc+ 18 b)de + (-18L c - 36B Db c)d e

--R 232
--R - 9B cde

--R 2 4 2 23 2 32
--R -6Abde + (B4Abc +27Bb)de + (-54Ac - 108B Db c)d e

--R 2 4
--R 81B c d e
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--R 223 2 32 2 4 25
--R -20bde + (220 bc+ 11Bb)de + (-26Ac -52Bbc)de+ 47B c d

--R /

--R 9 3 8 2 27 36

--R 6ex + 18d e x + 18d e x + 6d e

--R Type: Expression(Integer)

--E 71

--8 72 OF 765
d0:=normalize (t0-D(r0,x))

--R Type: Expression(Integer)
--E 72

)Jclear all

--S 73 OF 765
£0:=(A+B*x) * (d+e*xx) “m* (b*x+c*x~2) "3

--R (1)
--R 37 3 2 6 2 2 5 2 3 4
--R Bcx +(Ac +3Bbc)x +(BAbc +3Bbc)x + 3Abc+Bb)x

--R 33
--R Abx

--R (e x + d)
--R Type: Expression(Integer)
--E 73

--S 74 OF 765

r0:=-d"3*(B*d-Axe) * (c*d-bxe) "3* (d+e*xx) ~ (1+m) / (e”8* (1+m) ) +d"2* (c*d-b*e) ~2%_
(B*d* (7*c*d-4*xbxe) -3xAxe* (2xc*kd-bxe) ) * (d+e*x) ~(2+m) / (e~ 8* (2+m) ) +_
3*d* (cxd-b*e) * (Axe* (5*xc~2*d"2-5xb*kckd*e+b~2*e"2) —-Bxd* (7T+*c~2*d"~2-_
8*b*cxdxe+2+b"2xe"2) ) * (d+e*x) ~ (3+m) / (e~ 8% (3+m) ) + (B*d* (35*%c~3*d"3-_
60*b*c~2*%d"~2%e+30*b~2*cxd*e”~2-4*b~3*e"3) —A*xe* (20*xc~3*d"~3-30*b*c~ 2% _
d"2%e+12*b"2*cxd*e”~2-b"3*e"3) ) * (d+e*x) "~ (4+m) / (e~ 8* (4+m) )+ (3*kA*c*e*_
(5%c”2*d"2-5*xb*c*d*xe+b~2%e"2) -B* (35*%c~3*d"~3-45xb*c~2*d " 2*e+15%b~ 2% _
cxd*xe~2-b"3*e"~3) ) *(d+e*x) ~ (5+m) / (e~ 8* (5+m) ) -3*c* (A*xcke* (2*ckd-b*e) —_
B (7*c"2*d~2-6%bxcxd*e+b 2*xe”2) ) * (d+e*x) ~ (6+m) / (e"8* (6+m) ) —c~2%_
(7*B*c*d-3*b*B*xe-Axc*e) * (d+e*xx) ~ (7+m) / (e~ 8* (7+m) ) +B*xc”~3*_
(d+e*x) " (8+m) / (e~8*(8+m))
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(2)

37
Bcm +2

3
13068B c m

m +
(e x + d)

3
((Ac +3

3
((343A ¢

3
((2135A ¢

3

((7504A c

((14756A ¢

((14832A ¢

3
(5760A ¢

m +
(e x +d)

2
((BA b c

2

((90A b ¢

(1098A

7686B

36 35 34 33 3

8Bcm +322Bcm + 1960B cm + 6769B cm + 13132B c m

3
+ 5040B c

8

2 3 7 3 2 3

Bbcle-7Bcdm + ((294 ¢ + 87B b c )e - 2038B ¢ d)m

2 3 b
+ 1029B b ¢ )e - 2401B ¢ d)m

2 3 4
+ 6405B b ¢ )e - 14945B c d)m

2 3 3
+ 22512B b ¢ )e - 52528B ¢ d)m

3 2 3 2
+ 44268B b c )e - 103292B c d)m

3 2 3
+ 44496B b c )e - 103824B c d)m

2 3
+ 17280B b ¢ )e - 40320B c 4

7

2 2 3 2 32 7

+3Bbcle +(-6Ac -18Bbc)de+ 21Bcd)m

2 2 3 2 32 6
+ 90B b c)e + (- 180A ¢ - 540B b c )d e + 630B ¢ d )m

2 2 2 3 2
bc + 1098B b c)e + (- 2196A ¢ - 6588B b c )d e

32
cd

34

6



2
(7020A b ¢

32
49140B c d

(25227A b ¢

3
176589B c d

(50490A b ¢

3
353430B c d

(51432A b ¢

3
360024B c d

2

2

2

2

2

2

2

2 2
+ 7020B b c)e

2
+ 25227B b cle

2
+ 50490B b c)e

2
+ 51432B b c)e

2 2

(20160A b ¢ + 20160B b c)e +

32
141120B c d

m+ 6
(e x + d)

2

3 3

(B4 bc+Bble + (- 154

3

2 2

+ (- 14040A c

2
+ (- 50454A

2
+ (- 100980

2
+ (- 102864

3
(- 403204 ¢

2 2
bc -15B b

33

(1A ¢ +45B b c)de - 35B cd

35

3 2
- 42120B b c )d e

3 2
c - 151362B b c )d e

3 2
A c - 302940B b c )d e

3 2
A c - 308592B b c )d e

2
- 120960B b c )d e

2
c)d e



2

3 3

(930 b c + 31Bb )e + (-

3

2 2

2

2 2

465A b ¢ - 465B b c)d e

33

(465A ¢ + 1395B b ¢ )d e - 1085B c d

2

3 3

(1173A b ¢ + 391B b )e +

3

2 2

2

2 2

(- 5865A b ¢ - 5865B b c)d e

33

(6865A ¢ + 17595B b ¢ )d e - 13685B c d

2

3 3

(7743A b ¢ + 2581B b )e +

3
(38715A ¢

2
(28632A b ¢

3
(143160A ¢

2
(586924 b ¢

3
(293460A c

2
(60912A b ¢

2

2

2 2

(- 38715A b ¢ - 38715B b c)d e

2 33

+ 116145B b ¢ )d e - 90335B c d

+

+

+

+

3 3
9544B b )e

2

429480B b ¢ )d e - 334040B c d

3 3
19564B b e

2

880380B b ¢ )d e - 684740B c d

3 3
20304B b )e

36

2
+ (- 143160A b ¢

2 2
- 143160B b c)d e

2 33

+ (- 2934604 b c

2

2
- 293460B b c)d e

2 33

+ (- 3045604 b c

2

2
- 304560B b c)d e

2

2



3
(304560A ¢

2
(24192A b c + 8

3
(120960A ¢ + 3

m+ 5
(e x + d)

34
Abe + (-

3
(- 20A ¢ -

34
320 be +

2
(960A b ¢

34
1120B c d

3 4

418A b e +

(12540A b ¢

3 4
14630B c d

34
2864A b e

2 2 33
+ 913680B b ¢ )d e - 710640B c d

3 3 2 2 2
064B b )e + (- 120960A b ¢ - 120960B b c)d e

2 2 33
62880B b c )d e - 282240B c d

2 3 3 2 2 22
120 bc -4Bb)de + (B0Abc + 30BDb c)de

2 3 34
60B b c )d e + 35B c d

2 3 3
(- 384A b c - 128B b )d e

2 22 3 2 3
+ 960B b c)d e + (- 640A ¢ - 1920B b c )d e

2 3 3
(- 5016A b c - 1672B b )d e

2 2 22 3 2 3
+ 12540B b c)d e + (- 8360A ¢ - 25080B b c )d e

2 3 3
+ (- 34368A b c - 11456B b )d e

37



(859204

100240B

10993A b

(329790A

(- 21986

23312A b

(6993604

(- 46624

24876A b

(746280A

(- 49752

34
10080A b e

(302400A b ¢

2 2 22
b c + 85920B b c)d e + (- 57280A c

34
cd

34 2 3
e + (- 131916A b ¢ - 43972B b )d e

2 2 22
b c + 329790B b c)d e

3 2 3

3

3

3

2 3
- 171840B b c )d e

4

OA ¢ - 659580B b c )d e + 384755B c d

3 4 2 3
e + (- 279744A b c - 93248B b )d e

2 2 2 2
b c + 699360B b c)d e

3 2 3

3

3 4

OA c - 1398720B b ¢ )d e + 815920B c d

34 2 3
e + (- 298512A b c - 99504B b )d e

2 2 2 2
b c + 746280B b c)d e

3 2 3

3

3 4

OA c - 1492560B b c )d e + 870660B c d

2 3 3
+ (- 120960A b c - 40320B b )d e

2 2 22 3
+ 302400B b c)d e + (- 201600A c

38

2 3
- 604800B b c )d e



3 4
352800B c d

m+ 4
(e x + 4d)

3 4
-3 bde +

3
(15A ¢ + 45B

3 4
- 99A b d e

2
(- 990A b ¢

35
- 693B c d

3

- 1341A b d e

(- 13410A b ¢

35
- 9387B c d

3

- 9585A b d e

(- 95850A b ¢

35
- 67095B c d

2 3 23

2 2 32

(1BAbc+6Bb)de + (-30Abc -30Bbc)de

2 4 35
bcl)de-21Bcd

2 3 23
+ (594A b c + 198B b )d e

2 32 3

2 4

- 990B b c)de + (495A c + 1485B b c )d e

4 2 3 23
+ (8046A b c + 2682B b )d e

2 2 32 3
- 13410B b c)d e + (6705A c

4 2 3 2
+ (57510A b c + 19170B b )d e

2 2 32
- 95850B b c)d e + (47925A ¢

39

3

3

2 4
+ 20115B b ¢ )d e

2 4
+ 143775B b ¢ )d e



3

4 2 3

- 38592A b d e + (231552A b c + 77184B b )d

2 2 32

(- 385920A b ¢ - 385920B b c)d e

(192960A ¢

3

3

2 4 3
+ 578880B b ¢ )d e - 270144B c d

4 2 3

- 86076A b d e + (516456A b c + 172152B b )

2 2 32

(- 860760A b ¢ - 860760B b c)d e

(430380A ¢

3

3

2 4 3
+ 1291140B b ¢ )d e - 602532B ¢

4 2 3

- 96144A b d e + (576864A b c + 192288B b )

2 2 32

(- 961440A b ¢ - 961440B b c)d e

(480720A ¢

3

- 40320A b d e

(- 403200A b c

35
- 282240B c d

m+ 3
(e x + 4d)

324

3

4

2

2 4 3
+ 1442160B b ¢ )d e - 673008B c

2 3 23
+ (241920A b c + 80640B b )d e

2 32 3
- 403200B b c)d e + (201600A c

40

23
e

5

23
de

5
d

23
de

5
d

2 4
+ 604800B b c )d e



3Abde +

3
(-6Ac -1

324
102A b d e

2
(510Abc + 5

324
1434A b d e

2
(7170A b ¢

36
3346B c d

32
10740A b d e

2
(537004 b ¢

36
25060B c d

32

45867A b d e

(229335A b ¢

3
(- 91734A ¢

(120 bc-4Bb)de + (1BAbc + 15B b c)d e

2 5 36
8Bbc)de+ 7Bcd

2 3 33
+ (- 408A b c - 136B b )d e

2 4 2 3 2 5 3
10Bbc)de + (-204A c - 612B b c )d e + 238B c d

2 3 33
+ (- 5736A b c - 1912B b )d e

2 42 3 2 5
+ 7170B b c)d e + (- 2868A c - 8604B b c )d e

4 2 3 33
+ (- 42960A b ¢ - 14320B b )d e

2 42 3 2 5
+ 53700B b c)d e + (- 21480A c - 64440B b c )d e

4 2 3 33
+ (- 183468A b c - 61156B b )d e

2 2 42
+ 229335B b c)d e

2 5 36
- 275202B b ¢ )d e + 107023B ¢ d

41

6



3
110118A b

(550590A b

(- 220236A

3
134136A b

(670680A b

(- 268272A

324
60480A b d e

2
(302400A b ¢

36
141120B c d

m+ 2
(e x + d)

334
- Abde

3
(Ac + 3B

33
- 35Abd

24 2 3

33

de + (- 440472A b c - 146824B b )d e

2 2 4 2
c + 550590B b c)d e

3 2 5

3

6

c - 660708B b c )d e + 256942B c d

24 2 3

33

de + (- 536544A b c - 178848B b )d e

2 2 4 2
c + 670680B b c)d e

3 2 5

3

6

c - 804816B b c )d e + 312984B c d

2 3 33
+ (- 241920A b c - 80640B b )d e

2 42 3
+ 302400B b c)d e + (- 1209604 c

2 3 43
+ (B bc+Bbl)de + (-34bec

2 6 37
bcl)de-Bcd

4 2 3 43
e + (105A b c + 356B b )d e

42

2

2 5
- 362880B b c )d e

2 52
-3 bc)de



2
(-105Abc -1

334
- 511Abde

2
(- 1533A b ¢

37
- 511Bcd

334
- 4025A b d e

2
(- 12075A b ¢

37
- 4025B c d

33
- 18424A b d e

2
(- B5272A b ¢

37
- 18424B c d

33

- 48860A b d e

(- 146580A b ¢

3
(48860A ¢ + 1

2 52 3 2 6 37
05B b c)de + (35Ac + 105Bb c)de - 35Bcd

2 3 43
+ (1533A b ¢ + 511B b )d e

2 52 3 2 6
- 1533B b c)d e + (511A ¢ + 1633B b c )d e

2 3 43
+ (12075A b c + 4025B b )d e

2 52 3 2 6
- 12075B b c)d e + (4025A ¢ + 12075B b c )d e

4 2 3 43
+ (B5272A b c + 18424B b )d e

2 52 3 2 6
- B5272B b c)d e + (18424A c¢ + 55272B b c )d e

4 2 3 43
+ (146580A b c + 48860B b )d e

2 2 52
- 146580B b c)d e

2 6 37
46580B b c )d e - 48860B c d

43



--R 334 2 3 43
--R - 69264A b d e + (207792A b c + 69264B b )d e

--R 2 2 52
--R (- 207792A b ¢ - 207792B b c)d e

--R 3 2 6 37
--R (69264A ¢ + 207792B b c )d e - 69264B c d

--R 334 2 3 43
--R - 40320A b d e + (120960A b ¢ + 40320B b )d e

--R 2 2 52 3 2 6
--R (- 120960A b ¢ - 120960B b c)d e + (40320A c¢ + 120960B b c )d e

--R 37
--R - 40320B c d

--R 8 8 87 8 6 85 8 4 8 3 8 2
--R em + 36em + 546e m + 4536e m + 22449e m + 67284e m + 118124e m

--R 8 8

--R 109584e m + 40320e

--R Type: Expression(Integer)
--E 74

--S 75 OF 765
dO:=normalize(t0-D(r0,x))

--R Type: Expression(Integer)
--E 75

)Jclear all

--S 76 OF 765
t£0:=(A+B*x) * (d+e*xx) ~4* (b*x+c*x~2) "3

44



--R 34 11 3 2 4 3 3 10
--R Bcex + ((Ac +3Bbcle +4Bcde)x

--R 2 2 4 3 2 3 322 9
--R (BAbc +3Bbec)e + (4Ac +12Bb c )de + 6B cde)dx

--R 2 3 4 2 2 3 3 2 22
--R (BAbc+Bble + (120 bc + 12Bbc)de + (BAc + 18Bb c )d e

--R 33
--R 4B c d e

--R 34 2 3 3 2 2 22
--R Abe + (120 bc+4Bb)de + (180 bc + 18B b c)d e

--R 3 2 3 34
--R (4Ahc +12Bbc)de+Bcd

--R 3 3 2 3 22 2 2 3
--R 4Abde + (18Abc+6Bbl)de + (120 bc + 12B b c)d e

--R 3 2 4
--R (Ac +3bc)d

--R 322 2 3 3 2 2 4 5
--R (Abde + (120 bc+4Bb)de+ (BAbc + 3BDc)d)x

--R 33 2 3 4 4 343

--R (4Abde+ BAbc+Bb)l)d)l)x +Abdx

--R Type: Polynomial(Integer)
--E 76

--S 77 OF 765

r0:=1/4*%Axb~3%d~4*x"~4+1/5xb"~2%d "~ 3* (b*B*d+3*A*c*kd+4*xAxb*xe) *x~5+1/6%b*xd~2%_
(3%A*c™2%d"2+2*b " 2xe* (2*%B*d+3*A*xe) +3*xbkckd* (Bxd+4*A*e) ) *x~6+1/7T*d*_
(A*c~3*d"3+2*b~3*e "2 (3*B*d+2*xA*e) +6xb~ 2k c*d*e* (2*B*d+3*A*xe) +3xbx* _
c™2xd" 2% (Bxd+4xA*e) ) xx~7+1/8* (Axe* (4*xc~3*d"3+18*b*xc~2%d "~ 2*e+12% _
b~ 2*c*d*e”2+b"3*e”3) +Bxd* (c"3*d"3+12%b*c~2*xd"2*e+18*b " 2xcxd*e " 2+4*_
b~3*e"3) ) *x"8+1/9*ex* (3*xA*xcke* (2+%c™2xd "~ 2+4*bxckd*e+b™2xe”~2) +B*_
(4xc~3*d"3+18*b*c"2xd"2%e+12*b~2*c*d*e~2+b"3*e~3) ) *x"9+1/10%c*e~2%_
(Axckxe* (4xcxd+3*b*e) +3*B* (2xc~2*xd " 2+4*bkc*d*e+b~2%e”2) ) *x~10+1/11%_

45



c"2xe” 3% (4*xBxckxd+3*bxBxe+A*xcxe) *x~11+1/12*B*c"3*e~4*x"12

(2)
1 34 12 1 3 3 2 4 4 3 3 11
-—-Bcex +((-——Ac +--Bbcle +--Bcde)x
12 11 11 11
+
3 2 3 2 4 2 3 6 2 3 3 322 10
(-=Abc +--Bbcle +(-Ac +-Bbcl)de +-Bcde)x
10 10 5 5 5
+
1 2 1 3 4 4 2 4 2 3
(-Abc+-Bb)e +(-Abc +-Bbc)de
3 9 3 3
+
2 3 2 22 4 33
(-Ac +2Bbc)de +-Bcde
3 9
*
9
X
+
1 34 3 2 1 3 3 9 2 9 2 2 2
-Abe +(-Abc+-Bb)de + (-Abc +-Bbc)de
8 2 2 4 4
+
1 3 3 2 3 1 34
(-Ac +-Bbc)de+-Bcd
2 2 8
*
8
bq
+
4 3 3 18 2 6 3 22 12 2 12 2 3
-Abde +(——Abc+-Bb)ie +(——Abc +-—-Bbc)de
7 7 7 7 7
+
1 3 3 2 4
(-Ac +-Bbc)d
7 7
*
7
X
+
322 2 2 3 3 1 2 1 2 4 6
(Abde + 2Abc+-Bb)de+ (-Abc +-Bbc)d)x
3 2 2
+
4 33 3 2 1 3 4 5 1 344



--R (-Abde+ (-Abc+-Bbl)d)x +-Abdx

--R 5 5 5 4

--R Type: Polynomial (Fraction(Integer))
--E 77

--S 78 OF 765
d0:=normalize (t0-D(r0,x))

--R Type: Expression(Integer)
--E 78

)Jclear all
--S 79 OF 765

t£0:=(A+B*x) * (d+e*xx) " 3* (b*x+c*x~2) "3

--R (1)
--R 33 10 3 2 3 3 2 9
--R Bcex +((Ac +3Bbcle +3Bcde)x

--R 2 2 3 3 2 2 32 8
--R (BAbc +3Bbec)e + (BAc +9Bbc)l)de +3Bcde)x

--R 2 3 3 2 2 2 3 2 2
--R (BAbc+Bble + (OAbc +9Bbc)de + (BAc +9Bbc)lde

--R 33
--R Bcd

--R 33 2 3 2 2 2 2
--R Abe + (9Abc+3BDb)de + (9Abc +9Bbc)de

--R 3 2 3
--R (Ac +3Bbc)d

--R 3 2 2 3 2 2 2 3 5
--R (B3Abde + (9Abc+3Bblde+ (BAbc + 3BDbc)d)x

--R 32 2 3 3 4 333

--R (BAbde+ BAbc+Bb)d)x +Abdx
--R Type: Polynomial (Integer)
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--E 79

--S 80 OF 765

r0:=1/4*xAxb~3*%d"3*x"4+1/5xb"~2*d " 2* (b*B*d+3*A*c*d+3*xAxb*e) *x~5+1/2*bxd*_
(A*xc™2%d"2+b"2*e* (Bxd+A*e) +bxcxd* (Bxd+3*A*e) ) *xx~6+1/7T* (A*xc~3*d~3+_
9*b"2xckd*e* (Bxd+A*e) +b~3*ke 2% (3*xBkd+A*e) +3*b*xc~2xd "~ 2% (Bxd+3*A*e) ) *_
X" T+1/8*% (3*Axcxex (c™2%d”~2+3*b*cxd*ke+b”2xe~2) +B* (¢~ 3*d"3+9*b*c " 2*d~2*ke+_
9*b"2xckd*e”2+b"3*e"3) ) *x~8+1/3*cke* (Axcxex (cxd+b*xe) +B* (c~2xd "2+ _
3*b*ckdre+b " 2xe~2) ) *x"9+1/10%c"2*e " 2% (Axcxe+3*B* (cxd+b*e) ) *x~10+_
1/11*%B*c~3*e”~3*x"11

--R  (2)

--R 1 3311 1 3 3 2 3 3 3 2 10
--R -—-Bcex +((-——Ac +-—-Bbcle +-—-Bcde)x
--R 11 10 10 10

--R 1 2 1 2 3 1 3 2 2 1 32 9
--R (WFAbc +-Bbcle +(-Ac +Bbcl)de +-Bcde)x
--R 3 3 3 3

--R 3 2 1 3 3 9 2 9 2 2
--R (-Abc+-Bb)e +(-Abc +-Bbc)de
--R 8 8 8 8

--R 3 3 9 2 2 1 33
--R (-Ac +-Bbc)de+-Bcd
--R 8 8 8

--R 1 33 9 2 3 3 2 9 2 9 2 2
--R -Abe +(-Abc+-Bb)de +(-Abc +-Bbcl)de
--R 7 7 7 7 7

--R 1 3 3 2 3
--R (-Ac +-Bbc)d
-R 7 7

--R 1 3 2 3 2 1 3 2 1 2 1 2 3 6
--R (-Abde +(-Abc+-Bb)de+(-Abc +-Bboc)d)x
--R 2 2 2 2 2

--R 3 32 3 2 1 3 3 5 1 334

--R (-Abde+(-Abc+-Bb)d)x +-Abdzx
--R 5 5 5 4
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--R Type: Polynomial (Fraction(Integer))
--E 80

--S 81 OF 765

d0:=normalize (t0-D(r0,x))

--R

--R

--R (@3) 0

--R Type: Expression(Integer)
--E 81

)Jclear all

--S 82 OF 765
t£0:=(A+B*x) * (d+e*xx) ~2* (b*x+c*x~2) "3

--R (1)
--R 329 3 2 2 3 8
--R Bcex +((Ac +3Bbcle +2Bcde)x

--R 2 2 2 3 2 32 7
--R (BAbc +3Bbec)e + (20 c +6Bbc)de+Bcd)x

--R 2 3 2 2 2 3 2 2 6
--R (BAbc+Bb)e + (BAbc +6Bbc)de+ (Ac + 3B bc)d)x

--R 32 2 3 2 2 2 5
--R (Abe + (Abc+2Bb)de+ (BAbc + 3B b c)d)x

--R 3 2 3 2 4 323

--R (2Abde+ BAbc+Bb)d)x +Abdx

--R Type: Polynomial (Integer)
--E 82

--S 83 OF 765

r0:=1/4*%Axb~3%d"2*x"~4+1/5xb~2*d* (b*Bkd+3*Axckxd+2*Axb*xe) *x~5+1/6%b*_
(3%A*c~2%d"2+b"2*e*x (2*B*d+A*e) +3*bxcxd* (Bxd+2xA*xe) ) *x~6+1/T*_
(A*xc~3*d"2+b"~3*B*e~2+3*b~2*ckxe* (2+¥Bxd+A*e) +3xbxc~2*d* (Bxd+2*A*e) ) *x~7+_
1/8*c*k (Axckex (2xc*xd+3*bxe) +B* (c~2+d " 2+6*b*ckd*e+3*¥b~2%xe"2) ) *x "8+ _
1/9%c"2%ex (2*B*c*d+3*b*B*e+A*cke) *x~9+1/10*%B*c”~3*e"2*xx~10

--R (2

--R 1 32 10 1 3 1 2 2 2 3 9
--R --Bcex +((-Ac +-Bbcle +-Bcdex
--R 10 9 3 9

--R 3 2 3 2 2 1 3 3 2 1 32 8
--R (WAbc +-Bbcle +(-Ac +-Bbc)de+-Bcd)x
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8 8 4 4 8

3 2 1 3 2 6 2 6 2 1 3 3 2 2

(WFAbc+-Bbl)e +(-Abc +-Bbc)de+ (-Ac +-Bbc)d)x

7 7 7 7 7 7

1 32 2 1 3 1 2 1 2 2 6
(-Abe +(Abc+-Bb)de+ (-Abc +-Bbc)d)x
6 3 2 2

2 3 3 2 1 3 2 5 1 324
(-Abde+ (-Abc+-Bbl)d)x +-Abdzx
5 5 5 4
Type: Polynomial (Fraction(Integer))

--E 83

--S 84 OF 765
d0:=normalize (t0-D(xr0,x))

Type: Expression(Integer)

--E 84

)clear all

--S 85 OF 765
t£0:=(A+B*x) * (d+exx) * (b*x+c*xx~2) "3

(¢D)
3 8 3 2 3 7
Bcex + ((Ac +3Bbcle+Bcdx

2 2 3 2 6
(BAbc +3Bbcl)e+ (Ac +3BDbc)dx

2 3 2 2 5 3 2 3
(BAbc+Bble+ BAbc +3Bbc)d)x + (Abe+ (BAbc+Bb)dx

Abdx
Type: Polynomial(Integer)

--E 85

--S 86 OF 765
r0:=1/4*%Axb~3*d*x"4+1/5%b"~ 2% (b*B*d+3*A*c*d+A*xb*e) *x~5+1/6%b* (3kA*xc™2xd+_

--R

b~ 2*B*e+3*xbxc* (Bxd+A*e) ) *x~6+1/7+cx (Axc~2%d+3*b~2*Bxe+3*b*c* (Bkd+_
Axe) ) *x~7+1/8*c”~ 2% (Bxc*xd+3*b*Bke+A*xc*e) *x~8+1/9*Bxc~3*e*xx"9

a0

4

7



--R (2)

--R 1 3 9 1 3 3 2 1 3 8
--R -Bcex + ((-Ac +-Bbcle+-Bcdx
--R 9 8 8 8

--R 3 2 3 2 1 3 3 2 7
--R (FAbc +-Bbcle+ (-Ac +-Bbc)hdx
--R 7 7 7 7

--R 1 2 1 3 1 2 1 2 6
--R (FAbc+-Bbl)e+(-Abc +-Bbocdx
--R 2 6 2 2

--R 1 3 3 2 1 3 5 1 3 4

--R (-Abe+(-Abc+-Bb)dx +-Abdx

--R 5 5 5 4

--R Type: Polynomial (Fraction(Integer))
--E 86

--S 87 OF 765
d0:=normalize(t0-D(xr0,x))

--R Type: Expression(Integer)
--E 87

)Jclear all

--S 88 OF 765
t£0:=(A+B*x) * (b*x+c*x~2) "3

--R 37 3 2 6 2 2 5 2 3 4
--R Bcx +(Ac +3Bbc)x + (BAbc +3Bbc)x + (BAbc+Bb)x

--R Type: Polynomial (Integer)
--E 88

--S 89 OF 765
r0:=1/4*xA*xb~3%x"4+1/5%b" 2% (b*B+3*A*c) *x~5+1/2*b*c* (b*xB+A*c) *x~6+_
1/7*%c™2% (3*xb*B+A*c) *x~7+1/8*B*c~3*x"8

--R
--R

-—-R (2

--R t 38 1 3 3 2 7 1 2 1 2 6

o1



--R -Bcx +(-Ac +-Bbc)l)x +(-Abc +-Bbox
--R 8 7 7 2 2

--R 3 2 1 3 5 1 34

--R (-ADbc+-Bblx +-Abx

--R 5 5 4

--R Type: Polynomial (Fraction(Integer))
--E 89

--S 90 OF 765
d0:=normalize (t0-D(x0,x))

--R Type: Expression(Integer)
--E 90

)Jclear all

--S 91 OF 765
t£0:=(A+B*x) * (b*x+c*x~2) "3/ (d+e*x)

--R 37 3 2 6 2 2 5 2 3 4
--R Bcx +(Ac +3Bbc)l)x +(BAbc +3Bbc)x + (BAbc+Bb)x

--R Type: Fraction(Polynomial(Integer))

--S 92 OF 765

r0:=d"2* (Bkd-A*e) * (ckd-bxe) "3*x/e"7-1/2*d* (Bxd-A*e) * (c*d-b*e) "3*x"2/e”~6+_
1/3*(B*d-A*e) * (cxd-b*xe) “3*x~3/e~5-1/4* (Bx (cxd-b*e) "3-Axc*ex(c " 2*xd"2-_
3*b*ckdke+3*%b"2*xe"2) ) *x"4/e"4-1/5*%c* (Axcxe* (c*d-3*b*xe) -Bx (c~2*d"2-_
3*b*ckdxe+3*¥b"2*xe”2) ) *x~5/e"3-1/6%c " 2% (Bxckxd-3*b*Bxe—-A*cxe)*x"6/e"2+_
1/7*B*c~3*x"7/e-d"3* (Bxd-Axe) * (cxd-b*e) "3*log(d+exx)/e"8

--R 334 2 3 43
--R - 420A bde + (1260A b c + 420B b )d e

--R 2 2 52 3 2 6 37
--R (- 1260A b ¢ - 1260B b c)d e + (420A ¢ + 1260B b c )d e - 420B c d

--R log(e x + d)
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377 3 2 7 3
60B c e x + ((7T0Ac + 210Bb c )e - 70B c

2 2 7 3

6 6
d e )x

2 6 325 5

((252A b c + 252Bbcle + (-84A c -252Bbc)de + 84B c d e )x

2 3 7 2
(316A b c + 105B b 